

	Contract: 25-C-00041; FY25 - Stormwater Improvement													
	Bid Opening: 1:30P.M., February 24, 2026													
				AJ General Construction Services, Inc.			Underground Advantage LLC		CMG Pipelines, Inc		EZ Contracting LLC		DB Civil Construction, LLC	
Item No.	Description	Unit	Aprox. Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	
Schedule A - Stormwater Projects (Clark, Woodmere 2A and Annona)														
100	CONTINGENCY	NTE	1	\$165,000.00	\$165,000.00	\$165,000.00	\$165,000.00	\$ 165,000.00	\$165,000.00	\$ 165,000.00	\$165,000.00	\$ 165,000.00	\$ 165,000.00	
101A	MOBILIZATION (Clark and Fair Oaks)	LS	1	\$25,000.00	\$25,000.00	\$41,890.00	\$41,890.00	\$ 27,500.00	\$27,500.00	\$ 24,000.00	\$24,000.00	\$ 40,000.00	\$ 40,000.00	
101B	MOBILIZATION (Woodmere 2A)	LS	1	\$40,000.00	\$40,000.00	\$75,223.00	\$75,223.00	\$ 27,500.00	\$27,500.00	\$ 24,000.00	\$24,000.00	\$ 40,000.00	\$ 40,000.00	
101C	MOBILIZATION (Annona)	LS	1	\$30,000.00	\$30,000.00	\$66,872.00	\$66,872.00	\$ 27,500.00	\$27,500.00	\$ 24,000.00	\$24,000.00	\$ 40,000.00	\$ 40,000.00	
102A	MAINTENANCE OF TRAFFIC (Clark and Fair Oaks)	LS	1	\$20,000.00	\$20,000.00	\$16,800.00	\$16,800.00	\$ 15,000.00	\$15,000.00	\$ 12,100.00	\$12,100.00	\$ 15,000.00	\$ 15,000.00	
102B	MAINTENANCE OF TRAFFIC (Woodmere 2A)	LS	1	\$30,000.00	\$30,000.00	\$28,000.00	\$28,000.00	\$ 15,000.00	\$15,000.00	\$ 12,100.00	\$12,100.00	\$ 30,000.00	\$ 30,000.00	
102B	MAINTENANCE OF TRAFFIC (Annona)	LS	1	\$25,000.00	\$25,000.00	\$8,851.00	\$8,851.00	\$ 15,000.00	\$15,000.00	\$ 12,100.00	\$12,100.00	\$ 30,000.00	\$ 30,000.00	
104	NPDES PERMITTING, SEDIMENTATION & EROSION CONTROL	LS	1	\$55,000.00	\$55,000.00	\$12,000.00	\$12,000.00	\$ 25,000.00	\$25,000.00	\$ 44,000.00	\$44,000.00	\$ 8,000.00	\$ 8,000.00	
105.10	TREE ROOT PRUNING	LS	1	\$10,500.00	\$10,500.00	\$21,700.00	\$21,700.00	\$ 40,000.00	\$40,000.00	\$ 16,500.00	\$16,500.00	\$ 4,000.00	\$ 4,000.00	
105.50	TREE BARRICADES	LS	1	\$19,750.00	\$19,750.00	\$25,600.00	\$25,600.00	\$ 6,500.00	\$6,500.00	\$ 70,400.00	\$70,400.00	\$ 3,000.00	\$ 3,000.00	
110A	Demolition and Disposal (Clark and Fair Oaks)	LS	1	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$ 3,500.00	\$3,500.00	\$ 55,000.00	\$55,000.00	\$ 68,000.00	\$ 68,000.00	
110B	Demolition and Disposal (Woodmere 2A)	LS	1	\$10,000.00	\$10,000.00	\$11,000.00	\$11,000.00	\$ 3,500.00	\$3,500.00	\$ 66,000.00	\$66,000.00	\$ 88,000.00	\$ 88,000.00	
110C	Demolition and Disposal (Annona)	LS	1	\$5,000.00	\$5,000.00	\$8,000.00	\$8,000.00	\$ 3,500.00	\$3,500.00	\$ 44,000.00	\$44,000.00	\$ 93,000.00	\$ 93,000.00	
120	REMOVAL OF UNSUITABLE MATERIAL & REPLACEMENT OF SUITABLE SOIL	CY	500	\$45.00	\$22,500.00	\$60.00	\$30,000.00	\$ 50.00	\$25,000.00	\$ 97.00	\$48,500.00	\$ 35.00	\$ 17,500.00	
285	Optional Base, (Crushed concrete)	CY	280	\$46.85	\$13,118.00	\$45.00	\$12,600.00	\$ 55.00	\$15,400.00	\$ 69.70	\$19,516.00	\$ 140.00	\$ 39,200.00	
327	1.5" MECHANICAL MILLING	SY	2037	\$6.75	\$13,749.75	\$15.00	\$30,555.00	\$ 4.00	\$8,148.00	\$ 10.01	\$20,390.37	\$ 7.00	\$ 14,259.00	
327.10	2" MECHANICAL MILLING	SY	553	\$13.25	\$7,327.25	\$20.00	\$11,060.00	\$ 4.50	\$2,488.50	\$ 31.02	\$17,154.06	\$ 13.00	\$ 7,189.00	
334	SUPERPAVE ASPHALTIC CONCRETE, SP 9.5 (2")	TN	205	\$225.50	\$46,227.50	\$158.00	\$32,390.00	\$ 242.00	\$49,610.00	\$ 196.90	\$40,364.50	\$ 250.00	\$ 51,250.00	
334.10	SUPERPAVE ASPHALTIC CONCRETE, SP12.5 (1.5")	TN	179	\$236.50	\$42,333.50	\$162.00	\$28,998.00	\$ 229.00	\$40,991.00	\$ 215.49	\$38,572.71	\$ 260.00	\$ 46,540.00	
425.10	DEMOLISH/REMOVE EXISTING SIDEWALK AND DRIVEWAY	SY	259	\$38.50	\$9,971.50	\$12.00	\$3,108.00	\$ 45.00	\$11,655.00	\$ 116.17	\$30,088.03	\$ 38.00	\$ 9,842.00	
425.132	TYPE J MANHOLE STRUCTURE (5' DIA) STORMWATER	EA	5	\$9,190.00	\$45,950.00	\$8,720.00	\$43,600.00	\$ 9,000.00	\$45,000.00	\$ 12,054.00	\$60,270.00	\$ 13,000.00	\$ 65,000.00	
425.133	TYPE J MANHOLE STRUCTURE (6' DIA) STORMWATER	EA	3	\$10,255.00	\$30,765.00	\$11,870.00	\$35,610.00	\$ 10,000.00	\$30,000.00	\$ 12,054.00	\$36,162.00	\$ 16,000.00	\$ 48,000.00	
425.1300	INLET, COT GRATE TYPE E, <10'	EA	5	\$10,520.00	\$52,600.00	\$7,570.00	\$37,850.00	\$ 8,000.00	\$40,000.00	\$ 8,748.00	\$43,740.00	\$ 11,000.00	\$ 55,000.00	
425.131	INLET, COT CURB TYPE 1, <10'	EA	2	\$9,125.00	\$18,250.00	\$7,570.00	\$15,140.00	\$ 9,000.00	\$18,000.00	\$ 9,567.00	\$19,134.00	\$ 11,000.00	\$ 22,000.00	
425.14	INLET, COT CURB TYPE 2, <10'	EA	6	\$9,125.00	\$54,750.00	\$7,570.00	\$45,420.00	\$ 9,500.00	\$57,000.00	\$ 15,300.00	\$91,800.00	\$ 12,000.00	\$ 72,000.00	
425.131	INLET, COT GRATE TYPE T, <10'	EA	10	\$12,810.00	\$128,100.00	\$7,570.00	\$75,700.00	\$ 9,000.00	\$90,000.00	\$ 7,929.00	\$79,290.00	\$ 11,000.00	\$ 110,000.00	
425.17	INLET, COT CURB TYPE BR-1, <10'	EA	2	\$8,625.00	\$17,250.00	\$7,570.00	\$15,140.00	\$ 10,000.00	\$20,000.00	\$ 15,651.00	\$31,302.00	\$ 13,000.00	\$ 26,000.00	
430.161	STORMWATER HEADWALLS, DITCH GRADING & RIPRAP (Clark & Fair Oaks)	LS	1	\$30,475.00	\$30,475.00	\$16,000.00	\$16,000.00	\$ 35,000.00	\$35,000.00	\$ 29,865.00	\$29,865.00	\$ 40,000.00	\$ 40,000.00	

	Contract: 25-C-00041; FY25 - Stormwater Improvement													
	Bid Opening: 1:30P.M., February 24, 2026													
				AJ General Construction Services, Inc.			Underground Advantage LLC		CMG Pipelines, Inc		EZ Contracting LLC		DB Civil Construction, LLC	
Item No.	Description	Unit	Aprox. Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	
	Schedule A - Stormwater Projects (Clark, Woodmere 2A and Annona)													
430.10	15" ROUND STORMWATER PIPE (RCP)	LF	108	\$115.00	\$12,420.00	*	\$174.00	\$18,792.00	\$ 180.00	\$19,440.00	\$ 65.78	\$7,104.24	* \$ 130.00	\$ 14,040.00
430.20	18" ROUND STORMWATER PIPE (RCP)	LF	536	\$128.00	\$68,608.00		\$178.20	\$95,515.20	\$ 200.00	\$107,200.00	\$ 77.81	\$41,706.16	* \$ 135.00	\$ 72,360.00
430.300	30" ROUND STORMWATER PIPE (HDPP)	LF	120	\$100.50	\$12,060.00		\$207.00	\$24,840.00	\$ 225.00	\$27,000.00	\$ 94.06	\$11,287.20	* \$ 300.00	\$ 36,000.00
430.31	24" ROUND STORMWATER PIPE (RCP)	LF	24	\$155.75	\$3,738.00		\$205.00	\$4,920.00	\$ 300.00	\$7,200.00	\$ 106.79	\$2,562.96	* \$ 150.00	\$ 3,600.00
430.34	24" ROUND STORMWATER PIPE (RCP) (CLASS IV)	LF	44	\$183.50	\$8,074.00		\$130.00	\$5,720.00	\$ 300.00	\$13,200.00	\$ 129.76	\$5,709.44	* \$ 200.00	\$ 8,800.00
430.301	30" ROUND STORMWATER PIPE (RCP)	LF	384	\$197.50	\$75,840.00		\$247.00	\$94,848.00	\$ 350.00	\$134,400.00	\$ 128.76	\$49,443.84	\$ 220.00	\$ 84,480.00
430.70	12"X18" ELLIPTICAL STORMWATER PIPE, (ERCPC) CLASS IV	LF	248	\$163.50	\$40,548.00		\$209.00	\$51,832.00	\$ 200.00	\$49,600.00	\$ 98.71	\$24,480.08	* \$ 140.00	\$ 34,720.00
430.80	14"X23" ELLIPTICAL STORMWATER PIPE, (ERCPC) CLASS IV	LF	72	\$182.35	\$13,129.20		\$133.00	\$9,576.00	\$ 210.00	\$15,120.00	\$ 132.98	\$9,574.56	* \$ 150.00	\$ 10,800.00
430.90	19"X30" ELLIPTICAL STORMWATER PIPE, (ERCPC)	LF	139	\$203.75	\$28,321.25		\$259.00	\$36,001.00	\$ 230.00	\$31,970.00	\$ 131.79	\$18,318.81	* \$ 240.00	\$ 33,360.00
430.91	CONNECT STORMWATER PIPE TO EXISTING STRUCTURE (30-60") >10' - (Annona)	EA	1	\$6,000.00	\$6,000.00		\$6,500.00	\$6,500.00	\$ 6,500.00	\$6,500.00	\$ 10,080.00	\$10,080.00	\$ 7,000.00	\$ 7,000.00
515.062	PEDESTRIAN/BICYCLE RAILING (ALUMINUM) - (Clark & Fair Oaks)	LF	85	\$135.00	\$11,475.00		\$211.00	\$17,935.00	\$ 150.00	\$12,750.00	\$ 330.00	\$28,050.00	\$ 110.00	\$ 9,350.00
520.20	CONCRETE CURB & GUTTER, TYPE F	LF	90	\$69.50	\$6,255.00		\$35.00	\$3,150.00	\$ 35.00	\$3,150.00	\$ 60.50	\$5,445.00	\$ 50.00	\$ 4,500.00
522.10	SIDEWALK CONCRETE, 4" THICK (SIDEWALKS)	SY	93	\$108.75	\$10,113.75		\$126.00	\$11,718.00	\$ 115.00	\$10,695.00	\$ 105.60	\$9,820.80	\$ 110.00	\$ 10,230.00
522.20	SIDEWALK CONCRETE, 6" THICK (DRIVEWAYS)	SY	233	\$75.50	\$17,591.50		\$144.00	\$33,552.00	\$ 125.00	\$29,125.00	\$ 115.50	\$26,911.50	\$ 120.00	\$ 27,960.00
523	Concrete shock pad (waterline protection per plans)	SY	3	\$800.00	\$2,400.00	*	\$3,500.00	\$10,500.00	\$ 500.00	\$1,500.00	\$ 4,155.00	\$12,465.00	\$ 800.00	\$ 2,400.00
527	ADA COMPLIANT RAMPS (Concrete Included)	EA	6	\$2,100.00	\$12,600.00		\$1,200.00	\$7,200.00	\$ 3,500.00	\$21,000.00	\$ 1,652.00	\$9,912.00	\$ 3,000.00	\$ 18,000.00
2200	F&I 2" HDPE WATER TUBING BY HDD W/HDPE ADAPTERS AND HDPE FITTINGS AT VARIOUS DEPTHS	EA	1	\$7,715.00	\$7,715.00		\$5,000.00	\$5,000.00	\$ 7,500.00	\$7,500.00	\$ 4,477.50	\$4,477.50	\$ 4,000.00	\$ 4,000.00
8100	FURNISH, TAP, & INSTALL 3/4" OR 1" METER SERVICE (0-15', HDPE)	EA	10	\$4,000.00	\$40,000.00		\$2,500.00	\$25,000.00	\$ 1,850.00	\$18,500.00	\$ 3,134.00	\$31,340.00	\$ 1,900.00	\$ 19,000.00
8101	FURNISH, TAP, & INSTALL 3/4" METER SERVICE (+15-80', HDPE)	EA	10	\$4,500.00	\$45,000.00		\$3,500.00	\$35,000.00	\$ 2,750.00	\$27,500.00	\$ 6,010.00	\$60,100.00	\$ 3,000.00	\$ 30,000.00
900.10	8" DIA. PVC SANITARY GRAVITY PIPE (C-900-DR-18) WITH FERNCO ADAPTORS (ALL INCLUSIVE)	EA	1	\$5,430.00	\$5,430.00		\$6,500.00	\$6,500.00	\$ 15,000.00	\$15,000.00	\$ 2,566.20	\$2,566.20	\$ 6,000.00	\$ 6,000.00
1706	6-INCH DIAMETER PVC PIPE HOUSE LATERAL (SDR-35) (<30') REPLACEMENT	EA	10	\$6,615.00	\$66,150.00		\$6,500.00	\$65,000.00	\$ 7,500.00	\$75,000.00	\$ 4,021.20	\$40,212.00	\$ 4,000.00	\$ 40,000.00
4900.10	CONNECT TO EXISTING MANHOLE	EA	1	\$4,965.00	\$4,965.00		\$6,500.00	\$6,500.00	\$ 7,500.00	\$7,500.00	\$ 10,680.00	\$10,680.00	\$ 4,000.00	\$ 4,000.00
4900.20	REMOVE AND RAISE EXISTING MANHOLE TOPS	EA	2	\$1,825.00	\$3,650.00		\$1,500.00	\$3,000.00	\$ 1,500.00	\$3,000.00	\$ 1,485.00	\$2,970.00	\$ 3,500.00	\$ 7,000.00
8901	RESOD DISTURBED AREAS (ROW) Bahai or St. Augustine	SF	3980	\$1.85	\$7,363.00		\$2.25	\$8,955.00	\$ 9.00	\$35,820.00	\$ 9.90	\$39,402.00	\$ 7.00	\$ 27,860.00
	Schedule A Stormwater Projects - \$				\$1,483,064.20	*	\$1,516,661.20		\$1,542,462.50		\$1,639,967.96	*	\$ 1,763,240.00	
Contract Item #	Schedule B - Woodmere Transportation Project - 2B													
B-0100	CONTINGENCY	NTE	1	\$60,000.00	\$60,000.00		\$60,000.00	\$60,000.00	\$ 60,000.00	\$60,000.00	\$ 60,000.00	\$60,000.00	\$ 60,000.00	\$ 60,000.00

	Contract: 25-C-00041; FY25 - Stormwater Improvement														
	Bid Opening: 1:30P.M., February 24, 2026														
				AJ General Construction Services, Inc.				Underground Advantage LLC		CMG Pipelines, Inc		EZ Contracting LLC		DB Civil Construction, LLC	
Item No.	Description	Unit	Approx. Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total		
	Schedule A - Stormwater Projects (Clark, Woodmere 2A and Annona)														
B-0101	MOBILIZATION	LS	1	\$30,000.00	\$30,000.00	\$25,000.00	\$25,000.00	\$ 20,000.00	\$20,000.00	\$ 24,000.00	\$24,000.00	\$ 32,000.00	\$ 32,000.00		
B-0102	MAINTENANCE OF TRAFFIC	LS	1	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$ 30,000.00	\$30,000.00	\$ 12,100.00	\$12,100.00	\$ 18,000.00	\$ 18,000.00		
B-0110.11	CLEARING & GRUBBING	AC	0.36	\$4,800.00	\$1,728.00	\$8,000.00	\$2,880.00	\$ 20,000.00	\$7,200.00	\$ 9,600.00	\$3,456.00	\$ 85,000.00	\$ 30,600.00		
B-0120.1	REMOVAL OF UNSUITABLE MATERIAL & REPLACEMENT OF SUITABLE SOIL	CY	35	\$45.00	\$1,575.00	\$60.00	\$2,100.00	\$ 10.00	\$350.00	\$ 97.00	\$3,395.00	\$ 45.00	\$ 1,575.00		
B-0120.61	EMBANKMENT	CY	103	\$49.50	\$5,098.50	\$60.00	\$6,180.00	\$ 75.00	\$7,725.00	\$ 52.99	\$5,457.97	\$ 110.00	\$ 11,330.00		
B-0160	TYPE B STABILIZATION, 12" thick 75 psi/FBV	SY	128	\$45.00	\$5,760.00	\$35.00	\$4,480.00	\$ 70.00	\$8,960.00	\$ 62.86	\$8,046.08	\$ 110.00	\$ 14,080.00		
B-0285.06	OPTIONAL BASE, GROUP 06	SY	108	\$39.75	\$4,293.00	\$60.00	\$6,480.00	\$ 50.00	\$5,400.00	\$ 138.60	\$14,968.80	\$ 130.00	\$ 14,040.00		
B-0327	1.5" MECHANICAL MILLING	SY	741	\$6.75	\$5,001.75	\$15.00	\$11,115.00	\$ 5.00	\$3,705.00	\$ 23.32	\$17,280.12	\$ 6.00	\$ 4,446.00		
B-0327.2	MILLING EXISTING ASPHALT PAVEMENT, 3" AVG DEPTH	SY	339	\$35.25	\$11,949.75	\$25.00	\$8,475.00	\$ 9.50	\$3,220.50	\$ 50.38	\$17,078.82	\$ 30.00	\$ 10,170.00		
B-0334.4	SUPERPAVE ASPHALTIC CONCRETE, SP12.5 (VARIABLE DEPTH)	TN	147	\$305.00	\$44,835.00	\$300.00	\$44,100.00	\$ 255.00	\$37,485.00	\$ 278.19	\$40,893.93	\$ 260.00	\$ 38,220.00		
B-0425.1	DEMOLISH/REMOVE EXISTING SIDEWALK AND DRIVEWAY	SY	52	\$38.50	\$2,002.00	\$12.00	\$624.00	\$ 45.00	\$2,340.00	\$ 60.59	\$3,150.68	\$ 45.00	\$ 2,340.00		
B-0520.1	CONCRETE CURB & GUTTER, DROP CURB	LF	69	\$86.35	\$5,958.15	\$28.00	\$1,932.00	\$ 35.00	\$2,415.00	\$ 49.50	\$3,415.50	\$ 50.00	\$ 3,450.00		
B-0520.3	CONCRETE CURB, TYPE D	LF	311	\$48.25	\$15,005.75	\$28.00	\$8,708.00	\$ 60.00	\$18,660.00	\$ 52.80	\$16,420.80	\$ 50.00	\$ 15,550.00		
B-0522.2	SIDEWALK CONCRETE, 6" THICK (DRIVEWAYS)	SY	100	\$82.25	\$8,225.00	\$144.00	\$14,400.00	\$ 125.00	\$12,500.00	\$ 115.50	\$11,550.00	\$ 130.00	\$ 13,000.00		
B-0527	ADA COMPLIANT RAMPS (Concrete Included)	EA	2	\$2,100.00	\$4,200.00	\$1,200.00	\$2,400.00	\$ 3,500.00	\$7,000.00	\$ 1,652.00	\$3,304.00	\$ 3,200.00	\$ 6,400.00		
B-0630.212	CONDUIT, FURNISH AND INSTALL, DIRECTIONAL BORE	LF	84	\$35.00	\$2,940.00	\$125.00	\$10,500.00	\$ 150.00	\$12,600.00	\$ 126.50	\$10,626.00	\$ 90.00	\$ 7,560.00		
B-0635.211	PULL AND SPLICE BOX, FURNISH AND INSTALL, 13X24 COVER SIZE	EA	2	\$2,200.00	\$4,400.00	\$1,250.00	\$2,500.00	\$ 2,000.00	\$4,000.00	\$ 4,400.00	\$8,800.00	\$ 2,200.00	\$ 4,400.00		
B-0646.111	ALUMINUM SIGNALS POLE, PEDESTAL	EA	2	\$3,770.00	\$7,540.00	\$2,250.00	\$4,500.00	\$ 5,000.00	\$10,000.00	\$ 4,730.00	\$9,460.00	\$ 4,500.00	\$ 9,000.00		
B-0646.16	ALUMINUM SIGNALS POLE, REMOVE	EA	1	\$1,225.00	\$1,225.00	\$1,500.00	\$1,500.00	\$ 1,500.00	\$1,500.00	\$ 2,860.00	\$2,860.00	\$ 500.00	\$ 500.00		
B-0653.111	PEDESTRIAN SIGNAL, FURNISH & INSTALL LED COUNTDOWN, 1 WAY	AS	2	\$1,100.00	\$2,200.00	\$3,250.00	\$6,500.00	\$ 6,500.00	\$13,000.00	\$ 2,750.00	\$5,500.00	\$ 1,400.00	\$ 2,800.00		
B-0653.16	PEDESTRIAN SIGNAL, REMOVE PED SIGNAL- POLE/PEDESTAL TO REMAIN	AS	1	\$225.00	\$225.00	\$750.00	\$750.00	\$ 1,500.00	\$1,500.00	\$ 2,090.00	\$2,090.00	\$ 200.00	\$ 200.00		
B-0660.2101	LOOP ASSEMBLY- F&I, TYPE A	AS	4	\$2,925.00	\$11,700.00	\$875.00	\$3,500.00	\$ 2,750.00	\$11,000.00	\$ 4,290.00	\$17,160.00	\$ 2,000.00	\$ 8,000.00		
B-0665.111	PEDESTRIAN DETECTOR, FURNISH & INSTALL, STANDARD	EA	2	\$750.00	\$1,500.00	\$2,250.00	\$4,500.00	\$ 3,000.00	\$6,000.00	\$ 2,310.00	\$4,620.00	\$ 500.00	\$ 1,000.00		
B-0700.1111	SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, UP TO 12 SF	EA	2	\$385.00	\$770.00	\$1,125.00	\$2,250.00	\$ 2,000.00	\$4,000.00	\$ 605.00	\$1,210.00	\$ 450.00	\$ 900.00		
B-0700.16	SINGLE POST SIGN, F&I GROUND MOUNT, UP TO 12 SF	AS	9	\$660.00	\$5,940.00	\$975.00	\$8,775.00	\$ 1,500.00	\$13,500.00	\$ 1,155.00	\$10,395.00	\$ 1,000.00	\$ 9,000.00		
B-0700.3101	SINGLE POST SIGN, REMOVE	AS	7	\$275.00	\$1,925.00	\$180.00	\$1,260.00	\$ 350.00	\$2,450.00	\$ 165.00	\$1,155.00	\$ 100.00	\$ 700.00		
B-0706.13	RETRO-REFLECTIVE PAVEMENT MARKERS YELLOW/YELLOW	EA	16	\$27.50	\$440.00	\$30.00	\$480.00	\$ 20.00	\$320.00	\$ 11.55	\$184.80	\$ 15.00	\$ 240.00		

Contract: 25-C-00041; FY25 - Stormwater Improvement													
Bid Opening: 1:30P.M., February 24, 2026													
AJ General Construction Services, Inc. Underground Advantage LLC CMG Pipelines, Inc EZ Contracting LLC DB Civil Construction, LLC													
Item No.	Description	Unit	Aprox. Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
Schedule A - Stormwater Projects (Clark, Woodmere 2A and Annona)													
B-0710.11123	PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR CROSSWALK AND ROUNDABOUT, 12"	LF	207	\$6.00	\$1,242.00	\$37.00	\$7,659.00	\$ 5.00	\$1,035.00	\$ 6.05	\$1,252.35	\$ 5.00	\$ 1,035.00
B-0710.11125	PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR STOP LINE OR CROSSWALK, 24"	LF	172	\$9.50	\$1,634.00	\$37.00	\$6,364.00	\$ 5.00	\$860.00	\$ 9.35	\$1,608.20	\$ 8.00	\$ 1,376.00
B-0710.11201	PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLID, 6"	LF	256	\$10.75	\$2,752.00	\$37.00	\$9,472.00	\$ 3.00	\$768.00	\$ 2.75	\$704.00	\$ 3.00	\$ 768.00
B-0711.11123	THERMOPLASTIC, STANDARD, WHITE, SOLID, 12" FOR CROSSWALK AND ROUNDABOUT	LF	207	\$8.50	\$1,759.50	\$37.00	\$7,659.00	\$ 8.00	\$1,656.00	\$ 11.55	\$2,390.85	\$ 12.00	\$ 2,484.00
B-0711.11125	THERMOPLASTIC, STANDARD, WHITE, SOLID, 24" FOR STOP LINE AND CROSSWALK	LF	46	\$16.00	\$736.00	\$37.00	\$1,702.00	\$ 10.00	\$460.00	\$ 22.55	\$1,037.30	\$ 22.00	\$ 1,012.00
B-0711.14125	THERMOPLASTIC, PREFORMED, WHITE, SOLID, 24" FOR CROSSWALK	LF	127	\$14.00	\$1,778.00	\$37.00	\$4,699.00	\$ 15.00	\$1,905.00	\$ 22.55	\$2,863.85	\$ 30.00	\$ 3,810.00
B-0711.16201	THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SOLID, 6"	LF	256	\$10.50	\$2,688.00	\$37.00	\$9,472.00	\$ 7.50	\$1,920.00	\$ 6.05	\$1,548.80	\$ 9.00	\$ 2,304.00
B-4900.2	REMOVE AND RAISE EXISTING MANHOLE TOPS	EA	5	\$1,825.00	\$9,125.00	\$1,500.00	\$7,500.00	\$ 1,500.00	\$7,500.00	\$ 2,070.00	\$10,350.00	\$ 1,300.00	\$ 6,500.00
B-4900.3	VALVE BOXES, ADJUST	EA	1	\$1,350.00	\$1,350.00	\$900.00	\$900.00	\$ 500.00	\$500.00	\$ 602.10	\$602.10	\$ 300.00	\$ 300.00
B-8901	RESOD DISTURBED AREAS (ROW) Bahai or St. Augustine	SF	2205	\$1.85	\$4,079.25	\$2.25	\$4,961.25	\$ 9.00	\$19,845.00	\$ 6.90	\$15,214.50	\$ 7.00	\$ 15,435.00
Schedule B - Transportation \$					\$298,580.65		\$331,277.25		\$343,279.50		\$356,150.45	*	\$ 354,525.00
TOTAL for Contract					\$1,781,644.85	*	\$1,847,938.45	*	\$1,885,742.00		\$1,996,118.41	*	\$ 2,117,765.00
*means arithmetically corrected by Contract Administration.													
<p>Notice of Intent to Award: Unless subsequently indicated otherwise, in a revised posting, the City of Tampa intends to award the referenced project to the lowest bidder listed in this tabulation. A bidder aggrieved by this decision may file a protest not later than 4:30 P.M., five (5) business days from the first posting hereof, pursuant to City of Tampa Code Chapter 2, Article V, Division 3, Section 2-282, Procurement Protest Procedures. Protests not conforming therewith shall not be reviewed.</p>													

	Contract: 25-C-00041; FY25 - Stormwater Improvement														
	Bid Opening: 1:30P.M., February 24, 2026														
				AJ General Construction	Harris-McBurney Company			Keystone Excavators, Inc.		American Design Engineering Construction		Austin Construction Group, Inc		Kamminga & Roodvoets, Inc.	
Item No.	Description	Unit	Aprox. Quantity	Unit Price	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	
Schedule A - Stormwater Projects (Clark, Woodmere 2A and Annona)															
100	CONTINGENCY	NTE	1	\$165,000.00	\$ 165,000.00	\$165,000.00	\$ 165,000.00	\$165,000.00	\$ 165,000.00	\$165,000.00	\$ 165,000.00	\$165,000.00	\$ 165,000.00	\$165,000.00	
101A	MOBILIZATION (Clark and Fairoaks)	LS	1	\$25,000.00	\$ 63,000.00	\$63,000.00	\$ 63,500.00	\$63,500.00	\$ 150,000.00	\$150,000.00	\$ 40,000.00	\$40,000.00	\$ 100,000.00	\$100,000.00	
101B	MOBILIZATION (Woodmere 2A)	LS	1	\$40,000.00	\$ 63,000.00	\$63,000.00	\$ 91,000.00	\$91,000.00	\$ 100,000.00	\$100,000.00	\$ 40,000.00	\$40,000.00	\$ 160,000.00	\$160,000.00	
101C	MOBILIZATION (Annona)	LS	1	\$30,000.00	\$ 63,000.00	\$63,000.00	\$ 63,000.00	\$63,000.00	\$ 75,000.00	\$75,000.00	\$ 40,000.00	\$40,000.00	\$ 100,000.00	\$100,000.00	
102A	MAINTENANCE OF TRAFFIC (Clark and Fairoaks)	LS	1	\$20,000.00	\$ 23,007.20	\$23,007.20	\$ 16,500.00	\$16,500.00	\$ 35,000.00	\$35,000.00	\$ 12,000.00	\$12,000.00	\$ 35,000.00	\$35,000.00	
102B	MAINTENANCE OF TRAFFIC (Woodmere 2A)	LS	1	\$30,000.00	\$ 23,007.20	\$23,007.20	\$ 20,000.00	\$20,000.00	\$ 35,000.00	\$35,000.00	\$ 18,000.00	\$18,000.00	\$ 65,000.00	\$65,000.00	
102B	MAINTENANCE OF TRAFFIC (Annona)	LS	1	\$25,000.00	\$ 23,007.20	\$23,007.20	\$ 20,000.00	\$20,000.00	\$ 35,000.00	\$35,000.00	\$ 20,000.00	\$20,000.00	\$ 55,000.00	\$55,000.00	
104	NPDES PERMITTING, SEDIMENTATION & EROSION CONTROL	LS	1	\$55,000.00	\$ 10,000.00	\$10,000.00	\$ 15,000.00	\$15,000.00	\$ 15,000.00	\$15,000.00	\$ 5,000.00	\$5,000.00	\$ 30,000.00	\$30,000.00	
105.10	TREE ROOT PRUNING	LS	1	\$10,500.00	\$ 1,781.25	\$1,781.25	\$ 7,500.00	\$7,500.00	\$ 6,500.00	\$6,500.00	\$ 6,000.00	\$6,000.00	\$ 5,500.00	\$5,500.00	
105.50	TREE BARRICADES	LS	1	\$19,750.00	\$ 6,250.00	\$6,250.00	\$ 15,000.00	\$15,000.00	\$ 6,500.00	\$6,500.00	\$ 6,000.00	\$6,000.00	\$ 12,500.00	\$12,500.00	
110A	Demolition and Disposal (Clark and Fairoaks)	LS	1	\$5,000.00	\$ 36,050.55	\$36,050.55	\$ 68,500.00	\$68,500.00	\$ 15,000.00	\$15,000.00	\$ 27,500.00	\$27,500.00	\$ 52,500.00	\$52,500.00	
110B	Demolition and Disposal (Woodmere 2A)	LS	1	\$10,000.00	\$ 29,425.55	\$29,425.55	\$ 27,000.00	\$27,000.00	\$ 15,000.00	\$15,000.00	\$ 17,000.00	\$17,000.00	\$ 85,000.00	\$85,000.00	
110C	Demolition and Disposal (Annona)	LS	1	\$5,000.00	\$ 21,533.70	\$21,533.70	\$ 16,250.00	\$16,250.00	\$ 15,000.00	\$15,000.00	\$ 12,000.00	\$12,000.00	\$ 17,500.00	\$17,500.00	
120	REMOVAL OF UNSUITABLE MATERIAL & REPLACEMENT OF SUITABLE SOIL	CY	500	\$45.00	\$ 86.90	\$43,450.00	\$ 65.00	\$32,500.00	\$ 65.00	\$32,500.00	\$ 65.00	\$32,500.00	\$ 136.00	\$68,000.00	
285	Optional Base, (Crushed concrete)	CY	280	\$46.85	\$ 75.16	\$21,044.80	\$ 225.00	\$63,000.00	\$ 65.00	\$18,200.00	\$ 66.00	\$18,480.00	\$ 106.00	\$29,680.00 *	
327	1.5" MECHANICAL MILLING	SY	2037	\$6.75	\$ 7.50	\$15,277.50	\$ 9.15	\$18,638.55	\$ 10.00	\$20,370.00	\$ 18.00	\$36,666.00	\$ 11.00	\$22,407.00	
327.10	2" MECHANICAL MILLING	SY	553	\$13.25	\$ 25.23	\$13,952.19	\$ 16.50	\$9,124.50	\$ 10.00	\$5,530.00	\$ 18.00	\$9,954.00	\$ 11.00	\$6,083.00	
334	SUPERPAVE ASPHALTIC CONCRETE, SP 9.5 (2")	TN	205	\$225.50	\$ 305.00	\$62,525.00	\$ 255.00	\$52,275.00	\$ 285.00	\$58,425.00	\$ 300.00	\$61,500.00	\$ 231.00	\$47,355.00	
334.10	SUPERPAVE ASPHALTIC CONCRETE, SP12.5 (1.5")	TN	179	\$236.50	\$ 244.89	\$43,835.31	\$ 275.00	\$49,225.00	\$ 285.00	\$51,015.00	\$ 260.00	\$46,540.00	\$ 234.00	\$41,886.00	
425.10	DEMOLISH/REMOVE EXISTING SIDEWALK AND DRIVEWAY	SY	259	\$38.50	\$ 46.44	\$12,027.96	\$ 42.00	\$10,878.00	\$ 15.00	\$3,885.00	\$ 24.00	\$6,216.00	\$ 21.00	\$5,439.00	
425.132	TYPE J MANHOLE STRUCTURE (5' DIA) STORMWATER	EA	5	\$9,190.00	\$ 12,731.54	\$63,657.70	\$ 10,425.00	\$52,125.00	\$ 22,500.00	\$112,500.00	\$ 19,000.00	\$95,000.00	\$ 15,000.00	\$75,000.00	
425.133	TYPE J MANHOLE STRUCTURE (6' DIA) STORMWATER	EA	3	\$10,255.00	\$ 13,902.87	\$41,708.61	\$ 13,900.00	\$41,700.00	\$ 23,000.00	\$69,000.00	\$ 20,000.00	\$60,000.00	\$ 17,500.00	\$52,500.00	
425.1300	INLET, COT GRATE TYPE E, <10'	EA	5	\$10,520.00	\$ 10,504.70	\$52,523.50	\$ 10,575.00	\$52,875.00	\$ 23,500.00	\$117,500.00	\$ 13,000.00	\$65,000.00	\$ 10,000.00	\$50,000.00	
425.131	INLET, COT CURB TYPE 1, <10'	EA	2	\$9,125.00	\$ 16,440.41	\$32,880.82	\$ 13,500.00	\$27,000.00	\$ 23,500.00	\$47,000.00	\$ 15,000.00	\$30,000.00	\$ 10,000.00	\$20,000.00	
425.14	INLET, COT CURB TYPE 2, <10'	EA	6	\$9,125.00	\$ 17,627.91	\$105,767.46	\$ 15,500.00	\$93,000.00	\$ 25,000.00	\$150,000.00	\$ 15,000.00	\$90,000.00	\$ 13,000.00	\$78,000.00	
425.131	INLET, COT GRATE TYPE T, <10'	EA	10	\$12,810.00	\$ 12,885.52	\$128,855.20	\$ 9,000.00	\$90,000.00	\$ 25,000.00	\$250,000.00	\$ 14,000.00	\$140,000.00	\$ 8,250.00	\$82,500.00	
425.17	INLET, COT CURB TYPE BR-1, <10'	EA	2	\$8,625.00	\$ 17,119.36	\$34,238.72	\$ 11,250.00	\$22,500.00	\$ 25,000.00	\$50,000.00	\$ 15,000.00	\$30,000.00	\$ 14,000.00	\$28,000.00	
430.161	STORMWATER HEADWALLS, DITCH GRADING & RIPRAP (Clark & Fairoaks)	LS	1	\$30,475.00	\$ 86,765.50	\$86,765.50	\$ 150,000.00	\$150,000.00	\$ 35,000.00	\$35,000.00	\$ 115,000.00	\$115,000.00	\$ 275,000.00	\$275,000.00	

	Contract: 25-C-00041; FY25 - Stormwater Improvement														
	Bid Opening: 1:30P.M., February 24, 2026														
				AJ General Con	Harris-McBurney Company			Keystone Excavators, Inc.		American Design Engineering Construc		Austin Construction Group, Inc		Kamminga & Roodvoets, Inc.	
Item No.	Description	Unit	Aprox. Quantity	Unit Price	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	
	Schedule A - Stormwater Projects (Clark, Woodmere 2A and Annona)														
430.10	15" ROUND STORMWATER PIPE (RCP)	LF	108	\$115.00	\$ 128.79	\$13,909.32	\$ 150.00	\$16,200.00	\$ 55.00	\$5,940.00	\$ 275.00	\$29,700.00	\$ 192.00	\$20,736.00	
430.20	18" ROUND STORMWATER PIPE (RCP)	LF	536	\$128.00	\$ 167.54	\$89,801.44	\$ 160.00	\$85,760.00	\$ 65.00	\$34,840.00	\$ 300.00	\$160,800.00	\$ 178.00	\$95,408.00	
430.300	30" ROUND STORMWATER PIPE (HDPP)	LF	120	\$100.50	\$ 275.89	\$33,106.80	\$ 240.00	\$28,800.00	\$ 185.00	\$22,200.00	\$ 425.00	\$51,000.00	\$ 284.00	\$34,080.00	
430.31	24" ROUND STORMWATER PIPE (RCP)	LF	24	\$155.75	\$ 211.99	\$5,087.76	\$ 280.00	\$6,720.00	\$ 95.00	\$2,280.00	\$ 400.00	\$9,600.00	\$ 177.00	\$4,248.00	
430.34	24" ROUND STORMWATER PIPE (RCP) (CLASS IV)	LF	44	\$183.50	\$ 191.12	\$8,409.28	\$ 325.00	\$14,300.00	\$ 105.00	\$4,620.00	\$ 430.00	\$18,920.00	\$ 226.00	\$9,944.00	
430.301	30" ROUND STORMWATER PIPE (RCP)	LF	384	\$197.50	\$ 269.16	\$103,357.44	\$ 245.00	\$94,080.00	\$ 145.00	\$55,680.00	\$ 425.00	\$163,200.00	\$ 252.00	\$96,768.00	
430.70	12"X18" ELLIPTICAL STORMWATER PIPE, (ERCP) CLASS IV	LF	248	\$163.50	\$ 162.56	\$40,314.88	\$ 215.00	\$53,320.00	\$ 95.00	\$23,560.00	\$ 350.00	\$86,800.00	\$ 205.00	\$50,840.00	
430.80	14"X23" ELLIPTICAL STORMWATER PIPE, (ERCP) CLASS IV	LF	72	\$182.35	\$ 235.14	\$16,930.08	\$ 237.00	\$17,064.00	\$ 105.00	\$7,560.00	\$ 380.00	\$27,360.00	\$ 471.00	\$33,912.00	
430.90	19"X30" ELLIPTICAL STORMWATER PIPE, (ERCP)	LF	139	\$203.75	\$ 259.07	\$36,010.73	\$ 250.00	\$34,750.00	\$ 115.00	\$15,985.00	\$ 400.00	\$55,600.00	\$ 379.00	\$52,681.00	
430.91	CONNECT STORMWATER PIPE TO EXISTING STRUCTURE (30-60") >10' - (Annona)	EA	1	\$6,000.00	\$ 13,918.81	\$13,918.81	\$ 3,500.00	\$3,500.00	\$ 6,500.00	\$6,500.00	\$ 3,500.00	\$3,500.00	\$ 8,750.00	\$8,750.00	
515.062	PEDESTRIAN/BICYCLE RAILING (ALUMINUM) - (Clark & Fairoaks)	LF	85	\$135.00	\$ 133.75	\$11,368.75	\$ 130.00	\$11,050.00	\$ 95.00	\$8,075.00	\$ 175.00	\$14,875.00	\$ 98.00	\$8,330.00	
520.20	CONCRETE CURB & GUTTER, TYPE F	LF	90	\$69.50	\$ 47.50	\$4,275.00	\$ 110.00	\$9,900.00	\$ 45.00	\$4,050.00	\$ 110.00	\$9,900.00	\$ 63.00	\$5,670.00	
522.10	SIDEWALK CONCRETE, 4" THICK (SIDEWALKS)	SY	93	\$108.75	\$ 110.00	\$10,230.00	\$ 167.00	\$15,531.00	\$ 65.00	\$6,045.00	\$ 135.00	\$12,555.00	\$ 80.00	\$7,440.00	
522.20	SIDEWALK CONCRETE, 6" THICK (DRIVEWAYS)	SY	233	\$75.50	\$ 123.75	\$28,833.75	\$ 190.00	\$44,270.00	\$ 75.00	\$17,475.00	\$ 145.00	\$33,785.00	\$ 78.00	\$18,174.00	
523	Concrete shock pad (waterline protection per plans)	SY	3	\$800.00	\$ 1,000.00	\$3,000.00	\$ 5,000.00	\$15,000.00	\$ 4,500.00	\$13,500.00	\$ 1,000.00	\$3,000.00	\$ 2,500.00	\$7,500.00	
527	ADA COMPLIANT RAMPS (Concrete Included)	EA	6	\$2,100.00	\$ 3,125.00	\$18,750.00	\$ 4,850.00	\$29,100.00	\$ 6,500.00	\$39,000.00	\$ 2,000.00	\$12,000.00	\$ 1,250.00	\$7,500.00	
2200	F&I 2" HDPE WATER TUBING BY HDD W/HDPE ADAPTERS AND HDPE FITTINGS AT VARIOUS DEPTHS	EA	1	\$7,715.00	\$ 4,586.57	\$4,586.57	\$ 5,000.00	\$5,000.00	\$ 350.00	\$350.00	\$ 2,750.00	\$2,750.00	\$ 2,500.00	\$2,500.00	
8100	FURNISH, TAP, & INSTALL 3/4" OR 1" METER SERVICE (0-15', HDPE)	EA	10	\$4,000.00	\$ 4,905.20	\$49,052.00	\$ 2,350.00	\$23,500.00	\$ 635.00	\$6,350.00	\$ 2,750.00	\$27,500.00	\$ 1,780.00	\$17,800.00	
8101	FURNISH, TAP, & INSTALL 3/4" METER SERVICE (+15-80', HDPE)	EA	10	\$4,500.00	\$ 5,926.81	\$59,268.10	\$ 3,250.00	\$32,500.00	\$ 95.00	\$950.00	\$ 2,750.00	\$27,500.00	\$ 2,730.00	\$27,300.00	
900.10	8" DIA. PVC SANITARY GRAVITY PIPE (C-900-DR-18) WITH FERCO ADAPTORS (ALL INCLUSIVE)	EA	1	\$5,430.00	\$ 13,007.58	\$13,007.58	\$ 1,000.00	\$1,000.00	\$ 1,000.00	\$1,000.00	\$ 22,200.00	\$22,200.00	\$ 8,300.00	\$8,300.00	
1706	6-INCH DIAMETER PVC PIPE HOUSE LATERAL (SDR-35) (<30') REPLACEMENT	EA	10	\$6,615.00	\$ 5,163.22	\$51,632.20	\$ 3,750.00	\$37,500.00	\$ 300.00	\$3,000.00	\$ 6,200.00	\$62,000.00 *	\$ 2,440.00	\$24,400.00	
4900.10	CONNECT TO EXISTING MANHOLE	EA	1	\$4,965.00	\$ 1,971.36	\$1,971.36	\$ 3,500.00	\$3,500.00	\$ 7,000.00	\$7,000.00	\$ 4,550.00	\$4,550.00	\$ 6,500.00	\$6,500.00	
4900.20	REMOVE AND RAISE EXISTING MANHOLE TOPS	EA	2	\$1,825.00	\$ 1,708.14	\$3,416.28	\$ 2,500.00	\$5,000.00	\$ 2,500.00	\$5,000.00	\$ 1,500.00	\$3,000.00	\$ 1,450.00	\$2,900.00	
8901	RESOD DISTURBED AREAS (ROW) Bahai or St. Augustine	SF	3980	\$1.85	\$ 1.51	\$6,009.80	\$ 1.30	\$5,174.00	\$ 2.00	\$7,960.00	\$ 3.00	\$11,940.00	\$ 2.75	\$10,945.00	
	Schedule A Stormwater Projects - \$						\$1,912,820.85		\$1,945,610.05		\$1,987,845.00		\$2,099,391.00 *	\$2,327,476.00 *	
Contract Item #	Schedule B - Woodmere Transportation Project - 2B														
B-0100	CONTINGENCY	NTE	1	\$60,000.00	\$ 60,000.00	\$60,000.00	\$ 60,000.00	\$60,000.00	\$ 60,000.00	\$60,000.00	\$ 60,000.00	\$60,000.00	\$ 60,000.00	\$60,000.00	

	Contract: 25-C-00041; FY25 - Stormwater Improvement																												
	Bid Opening: 1:30P.M., February 24, 2026																												
				AJ General Con	Harris-McBurney Company			Keystone Excavators, Inc.		American Design Engineering Construc		Austin Construction Group, Inc		Kamminga & Roodvoets, Inc.															
Item No.	Description	Unit	Aprox. Quantity	Unit Price	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total													
	Schedule A - Stormwater Projects (Clark, Woodmere 2A and Annona)																												
B-0101	MOBILIZATION	LS	1	\$30,000.00	\$ 30,300.00	\$30,300.00	\$ 63,500.00	\$63,500.00	\$ 75,000.00	\$75,000.00	\$ 9,500.00	\$9,500.00	\$ 16,700.00	\$16,700.00															
B-0102	MAINTENANCE OF TRAFFIC	LS	1	\$25,000.00	\$ 13,125.00	\$13,125.00	\$ 20,000.00	\$20,000.00	\$ 35,000.00	\$35,000.00	\$ 10,000.00	\$10,000.00	\$ 2,500.00	\$2,500.00															
B-0110.11	CLEARING & GRUBBING	AC	0.36	\$4,800.00	\$ 22,500.00	\$8,100.00	\$ 50,000.00	\$18,000.00	\$ 15,000.00	\$5,400.00	\$ 69,000.00	\$24,840.00	\$ 10,000.00	\$3,600.00															
B-0120.1	REMOVAL OF UNSUITABLE MATERIAL & REPLACEMENT OF SUITABLE SOIL	CY	35	\$45.00	\$ 86.90	\$3,041.50	\$ 65.00	\$2,275.00	\$ 65.00	\$2,275.00	\$ 120.00	\$4,200.00	\$ 136.00	\$4,760.00															
B-0120.61	EMBANKMENT	CY	103	\$49.50	\$ 34.61	\$3,564.83	\$ 35.00	\$3,605.00	\$ 65.00	\$6,695.00	\$ 75.00	\$7,725.00 *	\$ 70.00	\$7,210.00															
B-0160	TYPE B STABILIZATION, 12" thick 75 psi/FBV	SY	128	\$45.00	\$ 46.53	\$5,955.84	\$ 25.00	\$3,200.00	\$ 75.00	\$9,600.00	\$ 110.00	\$14,080.00	\$ 51.00	\$6,528.00															
B-0285.06	OPTIONAL BASE, GROUP 06	SY	108	\$39.75	\$ 95.57	\$10,321.56	\$ 55.00	\$5,940.00	\$ 75.00	\$8,100.00	\$ 80.00	\$8,640.00	\$ 93.00	\$10,044.00															
B-0327	1.5" MECHANICAL MILLING	SY	741	\$6.75	\$ 12.24	\$9,069.84	\$ 9.15	\$6,780.15	\$ 10.00	\$7,410.00	\$ 18.00	\$13,338.00	\$ 11.00	\$8,151.00															
B-0327.2	MILLING EXISTING ASPHALT PAVEMENT, 3" AVG DEPTH	SY	339	\$35.25	\$ 14.41	\$4,884.99	\$ 42.00	\$14,238.00	\$ 12.00	\$4,068.00	\$ 24.00	\$8,136.00	\$ 11.00	\$3,729.00															
B-0334.4	SUPERPAVE ASPHALTIC CONCRETE, SP12.5 (VARIABLE DEPTH)	TN	147	\$305.00	\$ 261.25	\$38,403.75	\$ 340.00	\$49,980.00	\$ 300.00	\$44,100.00	\$ 300.00	\$44,100.00	\$ 219.00	\$32,193.00															
B-0425.1	DEMOLISH/REMOVE EXISTING SIDEWALK AND DRIVEWAY	SY	52	\$38.50	\$ 19.78	\$1,028.56	\$ 42.00	\$2,184.00	\$ 15.00	\$780.00	\$ 48.00	\$2,496.00	\$ 18.00	\$936.00															
B-0520.1	CONCRETE CURB & GUTTER, DROP CURB	LF	69	\$86.35	\$ 47.50	\$3,277.50	\$ 115.00	\$7,935.00	\$ 45.00	\$3,105.00	\$ 83.00	\$5,727.00	\$ 50.00	\$3,450.00															
B-0520.3	CONCRETE CURB, TYPE D	LF	311	\$48.25	\$ 43.75	\$13,606.25	\$ 115.00	\$35,765.00	\$ 40.00	\$12,440.00	\$ 48.00	\$14,928.00	\$ 49.00	\$15,239.00															
B-0522.2	SIDEWALK CONCRETE, 6" THICK (DRIVEWAYS)	SY	100	\$82.25	\$ 123.75	\$12,375.00	\$ 190.00	\$19,000.00	\$ 75.00	\$7,500.00	\$ 145.00	\$14,500.00	\$ 78.00	\$7,800.00															
B-0527	ADA COMPLIANT RAMPS (Concrete Included)	EA	2	\$2,100.00	\$ 3,125.00	\$6,250.00	\$ 4,850.00	\$9,700.00	\$ 6,500.00	\$13,000.00	\$ 4,250.00	\$8,500.00	\$ 1,250.00	\$2,500.00															
B-0630.212	CONDUIT, FURNISH AND INSTALL, DIRECTIONAL BORE	LF	84	\$35.00	\$ 119.69	\$10,053.96	\$ 78.00	\$6,552.00	\$ 30.00	\$2,520.00	\$ 105.00	\$8,820.00	\$ 55.00	\$4,620.00															
B-0635.211	PULL AND SPLICE BOX, FURNISH AND INSTALL, 13X24 COVER SIZE	EA	2	\$2,200.00	\$ 3,062.50	\$6,125.00	\$ 2,400.00	\$4,800.00	\$ 1,950.00	\$3,900.00	\$ 2,625.00	\$5,250.00	\$ 1,651.00	\$3,302.00															
B-0646.111	ALUMINUM SIGNALS POLE, PEDESTAL	EA	2	\$3,770.00	\$ 3,535.00	\$7,070.00	\$ 4,200.00	\$8,400.00	\$ 3,500.00	\$7,000.00	\$ 5,000.00	\$10,000.00 *	\$ 2,965.00	\$5,930.00															
B-0646.16	ALUMINUM SIGNALS POLE, REMOVE	EA	1	\$1,225.00	\$ 854.07	\$854.07	\$ 700.00	\$700.00	\$ 650.00	\$650.00	\$ 650.00	\$650.00	\$ 525.00	\$525.00															
B-0653.111	PEDESTRIAN SIGNAL, FURNISH & INSTALL LED COUNTDOWN, 1 WAY	AS	2	\$1,100.00	\$ 4,082.50	\$8,165.00	\$ 1,500.00	\$3,000.00	\$ 6,500.00	\$13,000.00	\$ 1,650.00	\$3,300.00	\$ 1,126.00	\$2,252.00															
B-0653.16	PEDESTRIAN SIGNAL, REMOVE PED SIGNAL- POLE/PEDESTAL TO REMAIN	AS	1	\$225.00	\$ 854.07	\$854.07	\$ 200.00	\$200.00	\$ 2,500.00	\$2,500.00	\$ 200.00	\$200.00	\$ 125.00	\$125.00															
B-0660.2101	LOOP ASSEMBLY- F&I, TYPE A	AS	4	\$2,925.00	\$ 2,160.00	\$8,640.00	\$ 2,600.00	\$10,400.00	\$ 5,678.00	\$22,712.00	\$ 2,700.00	\$10,800.00	\$ 1,779.00	\$7,116.00															
B-0665.111	PEDESTRIAN DETECTOR, FURNISH & INSTALL, STANDARD	EA	2	\$750.00	\$ 562.50	\$1,125.00	\$ 465.00	\$930.00	\$ 4,500.00	\$9,000.00	\$ 560.00	\$1,120.00	\$ 350.00	\$700.00															
B-0700.1111	SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, UP TO 12 SF	EA	2	\$385.00	\$ 625.00	\$1,250.00	\$ 600.00	\$1,200.00	\$ 1,150.00	\$2,300.00	\$ 525.00	\$1,050.00	\$ 400.00	\$800.00															
B-0700.16	SINGLE POST SIGN, F&I GROUND MOUNT, UP TO 12 SF	AS	9	\$660.00	\$ 1,250.00	\$11,250.00	\$ 600.00	\$5,400.00	\$ 1,150.00	\$10,350.00	\$ 1,275.00	\$11,475.00	\$ 600.00	\$5,400.00															
B-0700.3101	SINGLE POST SIGN, REMOVE	AS	7	\$275.00	\$ 125.00	\$875.00	\$ 265.00	\$1,855.00	\$ 65.00	\$455.00	\$ 325.00	\$2,275.00	\$ 40.00	\$280.00															
B-0706.13	RETRO-REFLECTIVE PAVEMENT MARKERS YELLOW/YELLOW	EA	16	\$27.50	\$ 12.50	\$200.00	\$ 15.00	\$240.00	\$ 3.00	\$48.00	\$ 15.00	\$240.00	\$ 10.00	\$160.00															

Contract: 25-C-00041; FY25 - Stormwater Improvement														
Bid Opening: 1:30P.M., February 24, 2026														
AJ General Construction Harris-McBurney Company Keystone Excavators, Inc. American Design Engineering Construction Austin Construction Group, Inc. Kamminga & Roodvoets, Inc.														
Item No.	Description	Unit	Aprox. Quantity	Unit Price	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
Schedule A - Stormwater Projects (Clark, Woodmere 2A and Annona)														
B-0710.11123	PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR CROSSWALK AND ROUNDABOUT, 12"	LF	207	\$6.00	\$ 6.25	\$1,293.75	\$ 1.00	\$207.00	\$ 2.00	\$414.00	\$ 12.00	\$2,484.00	\$ 3.00	\$621.00
B-0710.11125	PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR STOP LINE OR CROSSWALK, 24"	LF	172	\$9.50	\$ 10.00	\$1,720.00	\$ 2.00	\$344.00	\$ 2.00	\$344.00	\$ 25.00	\$4,300.00	\$ 5.00	\$860.00
B-0710.11201	PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLID, 6"	LF	256	\$10.75	\$ 2.50	\$640.00	\$ 0.60	\$153.60	\$ 2.00	\$512.00	\$ 6.00	\$1,536.00	\$ 2.00	\$512.00
B-0711.11123	THERMOPLASTIC, STANDARD, WHITE, SOLID, 12" FOR CROSSWALK AND ROUNDABOUT	LF	207	\$8.50	\$ 12.50	\$2,587.50	\$ 6.00	\$1,242.00	\$ 6.00	\$1,242.00	\$ 15.00	\$3,105.00	\$ 10.00	\$2,070.00
B-0711.11125	THERMOPLASTIC, STANDARD, WHITE, SOLID, 24" FOR STOP LINE AND CROSSWALK	LF	46	\$16.00	\$ 25.00	\$1,150.00	\$ 11.00	\$506.00	\$ 8.00	\$368.00	\$ 30.00	\$1,380.00	\$ 20.00	\$920.00
B-0711.14125	THERMOPLASTIC, PREFORMED, WHITE, SOLID, 24" FOR CROSSWALK	LF	127	\$14.00	\$ 25.00	\$3,175.00	\$ 11.00	\$1,397.00	\$ 25.00	\$3,175.00	\$ 30.00	\$3,810.00	\$ 25.00	\$3,175.00
B-0711.16201	THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SOLID, 6"	LF	256	\$10.50	\$ 6.25	\$1,600.00	\$ 2.50	\$640.00	\$ 6.00	\$1,536.00	\$ 15.00	\$3,840.00	\$ 2.00	\$512.00
B-4900.2	REMOVE AND RAISE EXISTING MANHOLE TOPS	EA	5	\$1,825.00	\$ 1,708.14	\$8,540.70	\$ 2,500.00	\$12,500.00	\$ 1,500.00	\$7,500.00	\$ 300.00	\$1,500.00	\$ 1,450.00	\$7,250.00
B-4900.3	VALVE BOXES, ADJUST	EA	1	\$1,350.00	\$ 854.07	\$854.07	\$ 525.00	\$525.00	\$ 2,567.00	\$2,567.00	\$ 500.00	\$500.00	\$ 285.00	\$285.00
B-8901	RESOD DISTURBED AREAS (ROW) Bahai or St. Augustine	SF	2205	\$1.85	\$ 1.51	\$3,329.55	\$ 1.30	\$2,866.50	\$ 2.00	\$4,410.00	\$ 3.00	\$6,615.00	\$ 2.75	\$6,063.75
Schedule B - Transportation						\$304,657.29		\$386,160.25		\$390,976.00		\$334,960.00	*	\$238,818.75
TOTAL for Contract						\$2,217,478.14		\$2,331,770.30		\$2,378,821.00		\$2,434,351.00	*	\$2,566,294.75
*means arithmetically corrected by Contract Administration.														
Notice of Intent to Award: Unless subsequently indicated otherwise, in a revised posting, the City of Tampa intends to award the referenced project to the lowest bidder listed in this tabulation. A bidder aggrieved by this decision may file a protest not later than 4:30 P.M., five (5) business days from the first posting hereof, pursuant to City of Tampa Code Chapter 2, Article V, Division 3, Section 2-282, Procurement Protest Procedures. Protests not conforming therewith shall not be reviewed.														

	Contract: 25-C-00041; FY25 - Stormwater Improvement					
	Bid Opening: 1:30P.M., February 24, 2026					
				AJ General ConCathcart Construction Company - Flori		
Item No.	Description	Unit	Aprox. Quantity	Unit Price	Unit Price	Total
	Schedule A - Stormwater Projects (Clark, Woodmere 2A and Annona)					
100	CONTINGENCY	NTE	1	\$165,000.00	\$ 165,000.00	\$165,000.00
101A	MOBILIZATION (Clark and Fair Oaks)	LS	1	\$25,000.00	\$ 82,000.00	\$82,000.00
101B	MOBILIZATION (Woodmere 2A)	LS	1	\$40,000.00	\$ 100,000.00	\$100,000.00
101C	MOBILIZATION (Annona)	LS	1	\$30,000.00	\$ 62,000.00	\$62,000.00
102A	MAINTENANCE OF TRAFFIC (Clark and Fair Oaks)	LS	1	\$20,000.00	\$ 20,000.00	\$20,000.00
102B	MAINTENANCE OF TRAFFIC (Woodmere 2A)	LS	1	\$30,000.00	\$ 20,000.00	\$20,000.00
102B	MAINTENANCE OF TRAFFIC (Annona)	LS	1	\$25,000.00	\$ 20,000.00	\$20,000.00
104	NPDES PERMITTING, SEDIMENTATION & EROSION CONTROL	LS	1	\$55,000.00	\$ 74,000.00	\$74,000.00
105.10	TREE ROOT PRUNING	LS	1	\$10,500.00	\$ 15,000.00	\$15,000.00
105.50	TREE BARRICADES	LS	1	\$19,750.00	\$ 11,000.00	\$11,000.00
110A	Demolition and Disposal (Clark and Fair Oaks)	LS	1	\$5,000.00	\$ 20,000.00	\$20,000.00
110B	Demolition and Disposal (Woodmere 2A)	LS	1	\$10,000.00	\$ 85,000.00	\$85,000.00
110C	Demolition and Disposal (Annona)	LS	1	\$5,000.00	\$ 44,000.00	\$44,000.00
120	REMOVAL OF UNSUITABLE MATERIAL & REPLACEMENT OF SUITABLE SOIL	CY	500	\$45.00	\$ 50.00	\$25,000.00
285	Optional Base, (Crushed concrete)	CY	280	\$46.85	\$ 375.00	\$105,000.00
327	1.5" MECHANICAL MILLING	SY	2037	\$6.75	\$ 19.00	\$38,703.00
327.10	2" MECHANICAL MILLING	SY	553	\$13.25	\$ 26.00	\$14,378.00
334	SUPERPAVE ASPHALTIC CONCRETE, SP 9.5 (2")	TN	205	\$225.50	\$ 460.00	\$94,300.00
334.10	SUPERPAVE ASPHALTIC CONCRETE, SP12.5 (1.5")	TN	179	\$236.50	\$ 470.00	\$84,130.00
425.10	DEMOLISH/REMOVE EXISTING SIDEWALK AND DRIVEWAY	SY	259	\$38.50	\$ 43.00	\$11,137.00
425.132	TYPE J MANHOLE STRUCTURE (5' DIA) STORMWATER	EA	5	\$9,190.00	\$ 11,000.00	\$55,000.00
425.133	TYPE J MANHOLE STRUCTURE (6' DIA) STORMWATER	EA	3	\$10,255.00	\$ 15,000.00	\$45,000.00
425.1300	INLET, COT GRATE TYPE E, <10'	EA	5	\$10,520.00	\$ 12,000.00	\$60,000.00
425.131	INLET, COT CURB TYPE 1, <10'	EA	2	\$9,125.00	\$ 15,000.00	\$30,000.00
425.14	INLET, COT CURB TYPE 2, <10'	EA	6	\$9,125.00	\$ 14,000.00	\$84,000.00
425.131	INLET, COT GRATE TYPE T, <10'	EA	10	\$12,810.00	\$ 8,500.00	\$85,000.00
425.17	INLET, COT CURB TYPE BR-1, <10'	EA	2	\$8,625.00	\$ 16,000.00	\$32,000.00
430.161	STORMWATER HEADWALLS, DITCH GRADING & RIPRAP (Clark & Fair Oaks)	LS	1	\$30,475.00	\$ 110,000.00	\$110,000.00

	Contract: 25-C-00041; FY25 - Stormwater Improvement						
	Bid Opening: 1:30P.M., February 24, 2026						
				AJ General ConCathcart Construction Company - Flori			
Item No.	Description	Unit	Aprox. Quantity	Unit Price	Unit Price	Total	
Schedule A - Stormwater Projects (Clark, Woodmere 2A and Annona)							
430.10	15" ROUND STORMWATER PIPE (RCP)	LF	108	\$115.00	\$ 150.00	\$16,200.00	
430.20	18" ROUND STORMWATER PIPE (RCP)	LF	536	\$128.00	\$ 177.00	\$94,872.00	
430.300	30" ROUND STORMWATER PIPE (HDPP)	LF	120	\$100.50	\$ 260.00	\$31,200.00	
430.31	24" ROUND STORMWATER PIPE (RCP)	LF	24	\$155.75	\$ 370.00	\$8,880.00	
430.34	24" ROUND STORMWATER PIPE (RCP) (CLASS IV)	LF	44	\$183.50	\$ 400.00	\$17,600.00	
430.301	30" ROUND STORMWATER PIPE (RCP)	LF	384	\$197.50	\$ 260.00	\$99,840.00	
430.70	12"X18" ELLIPTICAL STORMWATER PIPE, (ERCP) CLASS IV	LF	248	\$163.50	\$ 211.00	\$52,328.00	
430.80	14"X23" ELLIPTICAL STORMWATER PIPE, (ERCP) CLASS IV	LF	72	\$182.35	\$ 275.00	\$19,800.00	
430.90	19"X30" ELLIPTICAL STORMWATER PIPE, (ERCP)	LF	139	\$203.75	\$ 300.00	\$41,700.00	
430.91	CONNECT STORMWATER PIPE TO EXISTING STRUCTURE (30-60") >10' - (Annona)	EA	1	\$6,000.00	\$ 19,000.00	\$19,000.00	
515.062	PEDESTRIAN/BICYCLE RAILING (ALUMINUM) - (Clark & Fair Oaks)	LF	85	\$135.00	\$ 150.00	\$12,750.00	
520.20	CONCRETE CURB & GUTTER, TYPE F	LF	90	\$69.50	\$ 70.00	\$6,300.00	
522.10	SIDEWALK CONCRETE, 4" THICK (SIDEWALKS)	SY	93	\$108.75	\$ 119.00	\$11,067.00	
522.20	SIDEWALK CONCRETE, 6" THICK (DRIVEWAYS)	SY	233	\$75.50	\$ 130.00	\$30,290.00	
523	Concrete shock pad (waterline protection per plans)	SY	3	\$800.00	\$ 1,800.00	\$5,400.00	
527	ADA COMPLIANT RAMPS (Concrete Included)	EA	6	\$2,100.00	\$ 4,600.00	\$27,600.00	
2200	F&I 2" HDPE WATER TUBING BY HDD W/HDPE ADAPTERS AND HDPE FITTINGS AT VARIOUS DEPTHS	EA	1	\$7,715.00	\$ 5,300.00	\$5,300.00	
8100	FURNISH, TAP, & INSTALL 3/4" OR 1" METER SERVICE (0-15', HDPE)	EA	10	\$4,000.00	\$ 3,500.00	\$35,000.00	
8101	FURNISH, TAP, & INSTALL 3/4" METER SERVICE (+15-80', HDPE)	EA	10	\$4,500.00	\$ 5,800.00	\$58,000.00	
900.10	8" DIA. PVC SANITARY GRAVITY PIPE (C-900-DR-18) WITH FERNCO ADAPTORS (ALL INCLUSIVE)	EA	1	\$5,430.00	\$ 30,000.00	\$30,000.00	
1706	6-INCH DIAMETER PVC PIPE HOUSE LATERAL (SDR-35) (<30') REPLACEMENT	EA	10	\$6,615.00	\$ 7,500.00	\$75,000.00	
4900.10	CONNECT TO EXISTING MANHOLE	EA	1	\$4,965.00	\$ 12,500.00	\$12,500.00	
4900.20	REMOVE AND RAISE EXISTING MANHOLE TOPS	EA	2	\$1,825.00	\$ 1,750.00	\$3,500.00	
8901	RESOD DISTURBED AREAS (ROW) Bahai or St. Augustine	SF	3980	\$1.85	\$ 2.00	\$7,960.00	
Schedule A Stormwater Projects - \$						\$2,313,735.00	
Contract Item #	Schedule B - Woodmere Transportation Project - 2B						
B-0100	CONTINGENCY	NTE	1	\$60,000.00	\$ 60,000.00	\$60,000.00	

	Contract: 25-C-00041; FY25 - Stormwater Improvement						
	Bid Opening: 1:30P.M., February 24, 2026						
				AJ General ConCathcart Construction Company - Flori			
Item No.	Description	Unit	Aprox. Quantity	Unit Price	Unit Price	Total	
	Schedule A - Stormwater Projects (Clark, Woodmere 2A and Annona)						
B-0101	MOBILIZATION	LS	1	\$30,000.00	\$ 40,000.00	\$40,000.00	
B-0102	MAINTENANCE OF TRAFFIC	LS	1	\$25,000.00	\$ 15,000.00	\$15,000.00	
B-0110.11	CLEARING & GRUBBING	AC	0.36	\$4,800.00	\$ 150,000.00	\$54,000.00	
B-0120.1	REMOVAL OF UNSUITABLE MATERIAL & REPLACEMENT OF SUITABLE SOIL	CY	35	\$45.00	\$ 50.00	\$1,750.00	
B-0120.61	EMBANKMENT	CY	103	\$49.50	\$ 70.00	\$7,210.00	
B-0160	TYPE B STABILIZATION, 12" thick 75 psi/FBV	SY	128	\$45.00	\$ 84.00	\$10,752.00	
B-0285.06	OPTIONAL BASE, GROUP 06	SY	108	\$39.75	\$ 86.00	\$9,288.00	
B-0327	1.5" MECHANICAL MILLING	SY	741	\$6.75	\$ 19.00	\$14,079.00	
B-0327.2	MILLING EXISTING ASPHALT PAVEMENT, 3" AVG DEPTH	SY	339	\$35.25	\$ 30.00	\$10,170.00	
B-0334.4	SUPERPAVE ASPHALTIC CONCRETE, SP12.5 (VARIABLE DEPTH)	TN	147	\$305.00	\$ 160.00	\$23,520.00	
B-0425.1	DEMOLISH/REMOVE EXISTING SIDEWALK AND DRIVEWAY	SY	52	\$38.50	\$ 55.00	\$2,860.00	
B-0520.1	CONCRETE CURB & GUTTER, DROP CURB	LF	69	\$86.35	\$ 70.00	\$4,830.00	
B-0520.3	CONCRETE CURB, TYPE D	LF	311	\$48.25	\$ 70.00	\$21,770.00	
B-0522.2	SIDEWALK CONCRETE, 6" THICK (DRIVEWAYS)	SY	100	\$82.25	\$ 130.00	\$13,000.00	
B-0527	ADA COMPLIANT RAMPS (Concrete Included)	EA	2	\$2,100.00	\$ 1,500.00	\$3,000.00	
B-0630.212	CONDUIT, FURNISH AND INSTALL, DIRECTIONAL BORE	LF	84	\$35.00	\$ 100.00	\$8,400.00	
B-0635.211	PULL AND SPLICE BOX, FURNISH AND INSTALL, 13X24 COVER SIZE	EA	2	\$2,200.00	\$ 2,400.00	\$4,800.00	
B-0646.111	ALUMINUM SIGNALS POLE, PEDESTAL	EA	2	\$3,770.00	\$ 4,800.00	\$9,600.00	
B-0646.16	ALUMINUM SIGNALS POLE, REMOVE	EA	1	\$1,225.00	\$ 700.00	\$700.00	
B-0653.111	PEDESTRIAN SIGNAL, FURNISH & INSTALL LED COUNTDOWN, 1 WAY	AS	2	\$1,100.00	\$ 1,600.00	\$3,200.00	
B-0653.16	PEDESTRIAN SIGNAL, REMOVE PED SIGNAL- POLE/PEDESTAL TO REMAIN	AS	1	\$225.00	\$ 300.00	\$300.00	
B-0660.2101	LOOP ASSEMBLY- F&I, TYPE A	AS	4	\$2,925.00	\$ 2,500.00	\$10,000.00	
B-0665.111	PEDESTRIAN DETECTOR, FURNISH & INSTALL, STANDARD	EA	2	\$750.00	\$ 600.00	\$1,200.00	
B-0700.1111	SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, UP TO 12 SF	EA	2	\$385.00	\$ 500.00	\$1,000.00	
B-0700.16	SINGLE POST SIGN, F&I GROUND MOUNT, UP TO 12 SF	AS	9	\$660.00	\$ 1,000.00	\$9,000.00	
B-0700.3101	SINGLE POST SIGN, REMOVE	AS	7	\$275.00	\$ 300.00	\$2,100.00	
B-0706.13	RETRO-REFLECTIVE PAVEMENT MARKERS YELLOW/YELLOW	EA	16	\$27.50	\$ 13.00	\$208.00	

Contract: 25-C-00041; FY25 - Stormwater Improvement						
Bid Opening: 1:30P.M., February 24, 2026						
AJ General ConCathcart Construction Company - Flori						
Item No.	Description	Unit	Aprox. Quantity	Unit Price	Unit Price	Total
Schedule A - Stormwater Projects (Clark, Woodmere 2A and Annona)						
B-0710.11123	PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR CROSSWALK AND ROUNDABOUT, 12"	LF	207	\$6.00	\$ 9.00	\$1,863.00
B-0710.11125	PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR STOP LINE OR CROSSWALK, 24"	LF	172	\$9.50	\$ 12.00	\$2,064.00
B-0710.11201	PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLID, 6"	LF	256	\$10.75	\$ 7.00	\$1,792.00
B-0711.11123	THERMOPLASTIC, STANDARD, WHITE, SOLID, 12" FOR CROSSWALK AND ROUNDABOUT	LF	207	\$8.50	\$ 17.00	\$3,519.00
B-0711.11125	THERMOPLASTIC, STANDARD, WHITE, SOLID, 24" FOR STOP LINE AND CROSSWALK	LF	46	\$16.00	\$ 19.00	\$874.00
B-0711.14125	THERMOPLASTIC, PREFORMED, WHITE, SOLID, 24" FOR CROSSWALK	LF	127	\$14.00	\$ 34.00	\$4,318.00
B-0711.16201	THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SOLID, 6"	LF	256	\$10.50	\$ 13.00	\$3,328.00
B-4900.2	REMOVE AND RAISE EXISTING MANHOLE TOPS	EA	5	\$1,825.00	\$ 3,300.00	\$16,500.00
B-4900.3	VALVE BOXES, ADJUST	EA	1	\$1,350.00	\$ 1,800.00	\$1,800.00
B-8901	RESOD DISTURBED AREAS (ROW) Bahai or St. Augustine	SF	2205	\$1.85	\$ 3.00	\$6,615.00
Schedule B - Transportation \$						\$384,410.00
TOTAL for Contract						\$2,698,145.00
*means arithmetically corrected by Contract Administration.						
<p>Notice of Intent to Award: Unless subsequently indicated otherwise, in a revised posting, the City of Tampa intends to award the referenced project to the lowest bidder listed in this tabulation. A bidder aggrieved by this decision may file a protest not later than 4:30 P.M., five (5) business days from the first posting hereof, pursuant to City of Tampa Code Chapter 2, Article V, Division 3, Section 2-282, Procurement Protest Procedures. Protests not conforming therewith shall not be reviewed.</p>						